Marked text.






I propose that we grant that the fetus is a person from the moment of conception.  <How does the argument go from her?>  <Something like this, I take it.>  Every person has a right to life.  So the fetus has a right to life.  No doubt the mother has a right to decide what shall happen in and to her body; everyone would grant that.  But surely a person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body, and so outweighs it.  So the fetus may not be killed; an abortion may not be performed. (333).




Diagram













Not a rhetorical question, so strike through.





You could call this sentence a restatement of the rest of the paragraph.  But it doesn’t add anything to the argument, so I struck it.





Background information





Discounted.





Notice three conclusion indicators, “so,” “so” and “so.”





If you have trouble identifying the main conclusion of this argument, you are probably trying to decide if it is the first or last sentence.  Use your common sense:  which is a reason for which? (The main conclusion of a paragraph cannot be a reason for something else in the paragraph!)





2 Every person has a right to life.





1 The fetus is a person from the moment of conception.





3 Surely a person’s right to life is stronger and more stringent than the mother’s right to decide what happens in and to her body.





4 [A person’s right to life] outweighs [the mother’s right to decide what happens in and to her body].





5 The fetus has a right to life. 





Notice how I supplemented what was in the text to produce a meaningful declarative statement in box 4. I did not want to combine boxes 3 and 4 because the text had a conclusion indicator between them.





6 The fetus may not be killed; [in other words,] an abortion may not be performed.





Notice how box 6 contains a restatement.








